





Order Entry

8:00AM - 3:30PM Mon - Thurs 515.281.7422 Toll Free: 866.IowaABD (866.469.2223)



Will-Call

Will-Call Order: 8AM - 1PM Mon - Thurs Warehouse Pickup: 11AM - 3:30PM Mon - Thurs



Fax Orders

8AM - 3:30PM Mon - Thurs Products Fax: 515.281.7385 Toll Free Fax: 877.891.5348



Scan the icon with your mobile phone to download IABD Pricing, Promotions & TPR

Get the free mobile app at http://gettag.mobi

Labor Day Order & Delivery Schedule

The Division will be closed on Monday, September 5, 2011 for the Labor Day holiday. Please refer to the day of the week you normally place your order to see how your schedule will be impacted.

MONDAY: Orders must be received by Friday, September 2. Deliveries will be made on Tuesday, September 6.

TUESDAY: Order and delivery schedule will not be affected. WEDNESDAY: Order and delivery schedule will not be affected. THURSDAY: Order and delivery schedule will not be affected. Future holiday schedules are posted on the Division's website.

Customer Service Survey

The Iowa Alcoholic Beverages Division will periodically be calling our customers asking to participate in a short survey regarding their liquor orders. The results of this survey will help ABD provide the best service possible. During this call, ABD will also provide a few tips that will minimize errors and ensure customers receive their desired products. Any feedback or suggestions would be greatly appreciated!

We Want Your Comments!

To better serve our customers, many updates and improvements have been made at ABD. Your suggestions and comments are very important to us, especially during this time when changes are being made. Please contact any of the following with feedback you may have.

Steve Larson, Administrator

515.281.7402 or Larson@IowaABD.com

Doug Webb, Deputy Director of Administration

515.281.7444 or Webb@IowaABD.com

Tonya Dusold, Communications Director

515.281.7420 or Dusold@IowaABD.com

Nicole Hartman, Administrative Secretary

515.281.7443 or Hartman@IowaABD.com

Liquor Order Tips

To ensure your liquor order is entered, picked and delivered on schedule, please submit your orders according to the times below.

If your cut off time is 11:00am, please be sure your order is retreived by 10:30am.

If your cut off time is 3:30pm, please be sure your order is retrieved by 3:00pm.

Invalid Code Tips

To ensure you receive your desired products, please check the codes you are currently using on your order forms to match the most recent codes for each product. Product codes have changed in years past and it is possible you are using old codes that are no longer recognized by the order entry system. If you find an item is no longer listed, you will need to special order this delisted product. ABD would like to help customers receive all products that are available and encourage licensees to double check that product codes are current before placing their order.

Most recent codes and pricing can be found in the August, September, October issue of the *Iowa Quarterly Spirits Price Book* which is available electronically on our website at www.iowaabd.com/alcohol/licensees/pricing. A list of delisted items can also be found on this page.

If you have any questions concerning this matter, please contact Doug Webb at 515.281.7444 or Webb@IowaABD.com

50ml Liquor Bottle Refund

According to Iowa law, all 50ml liquor containers must have the five cent deposit information attached or affixed to each bottle. ABD suppliers are implementing this requirement and will include the refund value on every alcoholic beverage container, including 50ml. In the meantime, CRINC will pick up and reimburse for the 50ml liquor bottles whether or not it contains the five cent deposit label. Only the 50ml bottles are exempt from the labeling requirement.

September Promotions

Glazer's of Iowa

4377 NW 112th Street Urbandale, IA 50322 Phone: 515.252.7173 Fax: 515.252.8681

All purchases must be on one invoice dated September 2011. Invoice must be submitted within 45 days of invoice date to qualify for funds. In the event of out of stocks, multiple invoices will be honored. Please present a copy of the invoice to your Glazer's Spirits Sales Representative or submit a fax to (515) 252-8681. 360 Vodka: Mix & Match, all flavors: 360 Vodka 750ml (38169), 360 Double Chocolate (41019), 360 Madagascar Vanilla (41940), 360 Mandarin Orange (41938), 360 Grape (41936), 360 Georgia Peach (41943) & 360 Sorrento Lemon (41467)

Purchase 10 cases, receive a \$100 promo check.

Purchase 15 cases, receive a \$200 promo check.

Purchase 20 cases, receive a \$300 promo check & an iPod NANO with multi color touch display.

\$36 SPA on all 750ml 360 Vodka

XO Café: 750ml (67595) Packaged 6 bottles per case

Purchase 1 case, receive a \$25 promo check.

Patron Silver: Mix & Match, 50ml (88291), 200ml (88290), 375ml (88294), 750ml (88296) & 1.75ml (88298)

Purchase 5 cases, receive a \$200 promo check.

Due to size and pack variances, 9L of product will count as 1 case. Sobieski Vodka: Mix & Match, 750ml (34690), 1.75L (35213) & 4 Oranges (41049)

Purchase 2 cases, receive a \$25 promo check. *Must include both* 750ml & 1.75L sizes.

Purchase 5 cases, receive \$75 promo check. *Must include both* 750ml & 1.75L sizes.

Purchase 15 cases, receive \$15 per case & one 22" Flat Panel LCD Monitor with built-in DVD Player.

Purchase 25 cases, receive \$15 per case & one 26" Flat Panel LCD Monitor with built-in DVD Player.

Purchase 50+ cases, receive \$15 per case & one 32" Flat Panel LCD Monitor with built-in DVD Player.

A DVD containing the NEW Bruce Willis Sobieski Commercials will be included with each Flat Panel. Flat Panel devices are limited to one (1) per account, per program and supplies are limited. Please check with your Glazer's Rep to verify availability.

<u>Travis Hasse Pie's Liqueur:</u> Mix & Match, Apple (77570) & Cherry (77568)

Purchase 3 cases, receive a \$40 promo check. Purchase 5 cases, receive a \$100 promo check.

Don Q Cristal Rum: 750ml (43426) & 1.75L (43428)

Purchase 3 cases, receive a \$30 promo check & 2 Tailgate Chairs. *Must include 1 case 1.75L.*

Purchase 5 cases, receive a \$100 promo check, a Jersey. *Must include 1 case 1.75L*.

Purchase 8 cases, receive a \$200 promo check & a Frozen Drink

Machine. Must include 2 cases 1.75L.

Purchase 10 cases, receive a \$200 promo check & a Weber Q220 Tailgate Grill. *Must include 2 cases 1.75L.*

Purchase 15 cases, receive a \$350 promo check & a Fire Pit. *Must include 2 cases 1.75L.*

Purchase 40 cases, receive a \$350 promo check, a Fire Pit, Weber Q220 Tailgate Grill, Frozen Drink Machine, Jersey & 2 Tailgate Chairs. *Must include 5 cases 1.75L.*

For Tailgate Chairs & Jerseys, choose between Iowa or Iowa State Allow 3 weeks for choice/size/delivery.

Voli Vodka: Regular (67285) or Lemon (67288)

Purchase 1 case, receive a \$10 promo check.

Purchase 1 case of each Regular & Lemon, receive a \$25 promo check.

Or-G: 750ml (66107) Packaged 6 bottles per case

Purchase 1 case, receive a \$15 promo check.

Voli Vodka & OR-G:

Purchase 1 case each Voli, Voli Lemon & OR-G, receive a \$60 promo check.

901 Super Premium Tequila: 750ml (88152) *Packaged 6 bottles per case*

Purchase 1 case, receive a \$15 promo check.

Johnson Brothers of Iowa

2515 Dean Ave.

Des Moines, IA 50317 Phone: 515.262.1199 Fax: 515.262.0845

Please send all invoices to Cory Meiners or Scott Oeltjenbruns at Johnson Brothers. All purchases for each deal must be made on one invoice. Deals valid during September 2011.

New Amsterdam Vodka: NEW

Purchase 4 cases, receive a \$30 gift check. Purchase 10 cases, receive a \$90 gift check. Purchase 20 cases, receive a \$240 gift check.

UV Vodka: 1.75L (37339)

Purchase 10 cases, receive \$150 gift check.

Purchase 20 cases, receive \$500 gift check.

\$3 SPA on 1.75

Ron Diaz Spiced Rum: 1.75L

Purchase 5 cases, receive a \$50 gift check.

Purchase 10 cases, receive a \$150 gift check.

Nikolai Vodka: 750ml & 1.75L

Purchase 50 cases, receive a \$50 gift check.

Purchase 100 cases, receive a \$150 gift check.

Opulent Vodka:

Purchase 5 cases, receive a \$50 gift check.

Purchase 10 cases, receive a \$120 gift check.

Cupcake Vodka: NEW Original (35785) & Frosting (42035)

Purchase 1 case of each, receive a \$50 gift check.

Purchase 6 bottles each, receive a \$20 gift check.

Dr. McGillicuddy Flavors: *NEW* Mix & Match, Apple Pie (69611) & Root Beer (69706)

Purchase 4 cases, receive a \$48 gift check.

}Southern Wine & Spirits

Fax: 515.369.9330

All purchases must be on one invoice dated September 2011. Invoice must be submitted within 45 days of invoice date to qualify for funds. In the event of out of stocks, multiple invoices will be honored. Please present a copy of the invoice to your SWS Sales Representative or submit a fax to 515.369.9330.

Smirnoff & Smirnoff Flavors: Mix & Match, all sizes Pre-

pared Cocktails Excluded

Purchase 35 cases, receive \$8 per case = \$280.

Purchase 70 cases, receive \$11 per case = \$770.

Purchase 125 cases, receive \$16 per case = \$2000.

Purchase 200 cases, receive \$21 per case = \$4200. *Must include* 60 cases of flavors.

Purchase 300 cases, receive \$26 per case = \$7800. *Must include* 90 cases of flavors.

\$4.50 SPA on Smirnoff 80pf & 750ml Flavors

<u>Captain Morgan Original Spiced, 100 Proof, Private Stock, Tattoo, Silver, Parrot Bay Flavors & Myers's Rums:</u>

Mix & Match, all sizes (Liters outlined) Cocktails Excluded

Purchase 30 cases (max 6 Liters), receive \$6 per case = \$180.

Purchase 60 cases (max 12 Liters), receive \$8 per case = \$480.

Purchase 100 cases (max 20 Liters), receive \$10 per case = \$1000.

Purchase 150 cases (max 30 Liters), receive \$12 per case = \$1800.

Purchase 200 cases (max 40 Liters), receive \$14 per case =\$2800.

Purchase 250 cases (max 50 Liters), receive \$20 per case = \$5000.

\$3 SPA on 1.75L PET & Glass Original Spiced

<u>Diageo Tequila:</u> Mix & Match, all sizes (Liters outlined) Jose Cuervo Gold, Silver, Tradicional, Black, Don Julio Blanco, Don Julio Anejo & Don Julio Reposado

Purchase 12 cases (max 3 Liters), receive \$15 per case = \$180.

Purchase 25 cases (max 5 Liters), receive \$20 per case = \$500.

Purchase 50 cases (max 10 Liters), receive \$25 per case = \$1250.

Purchase 75 cases (max 15 Liters), receive \$30 per case = \$2250.

Ursus Vodka: Mix & Match, all sizes, all flavors

Purchase 10 cases, receive \$12.50 per case = \$125.

Purchase 20 cases, receive \$15 per case = \$300.

Popov Vodka, Gordon's Gin, Gordon's Vodka & Scoresby

Scotch: Mix & Match, 1.75L

Purchase 10 cases, receive \$5 per case = \$50.

Purchase 25 cases, receive \$7.50 per case = \$187.50.

Purchase 50 cases, receive \$10 per case = \$500.

Purchase 75 cases, receive \$12.50 per case = \$937.50

Relska Vodka: 1.75L

Purchase 20 cases, receive \$4.50 per case = \$90.

Purchase 40 cases, receive \$7 per case = \$280.

Purchase 80 cases, receive \$9 per case = \$720.

Johnnie Walker: Blue or Green

Purchase 1 case, receive \$100. Full case purchases only.

North American Whiskey: Mix & Match, all sizes (Liters outlined) Crown Royal all marques, Seagram's 7 Crown, Seagram's 7 Dark Honey, Seagram's 7 Stone Cherry, Seagram's VO, Bulleit Bourbon, Bulleit

Rye, George Dickel #12 & Jeremiah Weed Cherry Mash Bourbon.

Purchase 12 cases (max 3 Liter), receive \$15 per case = \$180. *Must include 8 cases Crown Royal*.

Purchase 25 cases (max 5 Liters), receive \$20 per case = \$500.

Must include 16 cases Crown Royal.

Purchase 50 cases (max 10 Liters), receive \$30 per case = \$1500.

Must include 32 cases Crown Royal.

Purchase 80 cases (max 16 Liters), receive \$35 per case = \$2800.

Must include 52 cases Crown Royal.

Purchase 120 cases (max 24 Liters), receive \$43 per case = \$5160.

Must include 78 cases Crown Royal.

Purchase 175 cases (max 35 Liters), receive \$50 per case = \$8750.

Must include 114 cases Crown Royal & 2 cases Crown Royal Reserve or Higher Marques.

\$3 SPA on 1.75L Seagram's 7 Crown

Jeremiah Weed Sweet Tea: Mix & Match, all sizes, Original

& Peach

Purchase 10 cases, receive \$9 per case = \$90.

Rokk: Mix & Match, Original 1.75L & Raspberry 750ml

Purchase 1 case, receive \$10.

 $Max\ payout\ per\ account = \10

Rokk: Mix & Match, Original 1.75L & Raspberry 750ml

Purchase 5 cases, receive \$15 per case = \$75.

Purchase 7 cases, receive \$20 per case = \$140.

Purchase 10 cases, receive \$30 per case = \$300.

Glenmorangie: Mix & Match, Original 10yr, Lasanta, & Nectar

D'or Packaged 6 bottles per case

Purchase 2 cases, receive \$30 per case = \$60. *Must include 2 types*.

Purchase 4 cases, receive \$42 per case = \$168. *Must include 3 types*.

Purchase 8 cases, receive \$54 per case = \$432. *Must include 3 types*.

Purchase 10 cases, receive \$60 per case = \$600. *Must include 3 types*.

Ardbeg: 750ml (4096) Packaged 6 bottles per case

Purchase 2 cases, receive \$40 per case = \$80.

Purchase 4 cases, receive \$80 per case = \$320.

Spirited Brands of Iowa

3410 Kingman Blvd.

Des Moines, IA 50311

Office: 515.274.0103 Cell: 515.202.1661

Fax: 866.751.8118

Please submit copies of all invoices to the above address to the attention of Jeremy Thompson either via fax or mail. All invoices must be submitted by October 15th for payment. St. Brendan's Superior Irish Cream Liqueur, Café Lolita Coffee Liqueur, Arrow Cordials, Schnapps and Brandies:

750ml, 1L & 1.75L

Purchase 5 cases, receive a \$30 gift check.

Purchase 10 cases, receive a \$90 gift check.

Purchase 25 cases, receive a \$300 gift check.

Purchase 50 cases, receive a \$750 gift check.

El Mayor Tequila:

Purchase 1 case, receive a \$30 gift check.

Purchase 3 cases, receive a \$135 gift check.

Canadian Reserve &/or Hawkeye Vodka, Rum, Gin, &

Blended Whiskey: Mix & Match, 750ml & 1.75L sizes only

Purchase 10 cases, receive a \$30 gift check.

Purchase 25 cases, receive a \$100 gift check.

Purchase 50 cases, receive a \$250 gift check.

Purchase 100 cases, receive a \$700 gift check.

Purchase 200 cases, receive a \$1650 gift check.

Pearl Vodka: Mix & Match, all flavors, all sizes, Pearl Black (34546), Pearl Pomegranate (34702), Pearl Coconut (34561), Pearl Blueberry (35179), Pearl Cucumber (35699), Pearl Orange 750ml (35702), Pearl Caramel 750ml (35692) & Pearl Black 1.75L (34548)

Purchase 4 cases, receive a \$100 gift check.

Purchase 6 cases, receive a \$180 gift check.

Purchase 10 cases, receive a \$400 gift check.

Salvador's Original Margarita 1.75L (63528) & Purple

Passion 1.75L (62838): Mix & Match

Purchase 5 cases, receive a \$25 gift check.

Purchase 10 cases, receive a \$60 gift check.

Purchase 25 cases, receive a \$225 gift check.

Purchase 50 cases, receive a \$500 gift check.

<u>Juarez Tequila:</u> Juarez Silver, Gold & DSS, 1L & 1.75L sizes only DSS

Purchase 10 cases, receive a \$30 gift check.

Purchase 25 cases, receive a \$100 gift check.

Purchase 50 cases, receive a \$250 gift check.

Wirtz Beverage Iowa

3101 104th Street, Suite 4 Urbandale, IA 50322 Phone: 515.252.1665 Fax: 515.252.1708

All accounts are eligible to purchase ONE of each of the following deals. All purchases MUST be made in the same week and invoices MUST be faxed or sent to our office and received by October 15th for payment.

Bacardi

Bacardi Oakheart: 750ml & 1L

Purchase 1 case of each size, receive a \$25 check.

Purchase 4 cases, receive a \$100 check. **Dewar's White Label:** 750ml, 1L & 1.75L

Purchase 3 cases, receive a \$25 check. Purchase 5 cases, receive a \$50 check. Purchase 10 cases, receive a \$150 check.

Bacardi Classic Cocktails: Mojito, Pina Colada & Strawberry

Daiquiri

Purchase 5 cases, receive a \$30 check. Purchase 10 cases, receive a \$120 check.

PLUS \$12 SPA

Bacardi Party Drinks: Bahama Mama, Hurricane, Rum Island

Iced Tea & Zombie

Purchase 5 cases, receive a \$25 check. Purchase 10 cases, receive a \$100 check.

PLUS \$6 SPA **Beam Global**

Basil Hayden:

Purchase 1 case, receive a \$25 check.

Courvoisier Rose: 750ml

Purchase 1 case, receive a \$25 check.

DeKuyper O3: 750ml

Purchase 1 case, receive a \$50 check.

Jim Beam Black, Jim Beam Rye & Devil's Cut: 750ml

Purchase 4 bottles of each, receive a \$50 check.

Purchase 1 case of each, receive a \$200 check.

Kamora: 750ml

Purchase 3 cases, receive a \$75 check.

Kessler: 750ml & 1.75L

Purchase 15 cases, receive a \$75 check. Purchase 25 cases, receive a \$150 check. Purchase 50 cases, receive a \$350 check.

Knob Creek: 750ml

Purchase 6 cases (36btls), receive a \$100 check.

Purchase 26 cases, receive a \$500 check. Purchase 52 cases, receive a \$1200 check.

Maker's Mark: 750ml

Purchase 3 cases, receive a \$75 check.

Sauza Blanco: 1.75L

Purchase 1 case, receive a \$30 check. **Sauza Cien Anos Reposado:** 750ml Purchase 1 case, receive a \$75 check.

Thatcher's Liqueurs: 750ml

Purchase 3 cases, receive a \$100 check.

Windsor: 750ml & 1.75L

Purchase 15 cases, receive a \$50 check. Purchase 25 cases, receive a \$100 check. Purchase 50 cases, receive a \$250 check.

Brown-Forman

Herradura Silver & Reposado:

Purchase 12 bottles, receive a \$100 check. **Southern Comfort RTP Hurricane:** 1.75L

Purchase 4 cases, receive a \$75 check.

Pernod-Ricard USA

Absolut 80°, 100° & Flavors: 750ml & 1.75L

Purchase 10 cases, receive a \$100 check.
Purchase 15 cases, receive a \$180 check.
Purchase 20 cases, receive a \$360 check.
Purchase 25 cases, receive a \$500 check.
Purchase 50 cases, receive a \$1200 check.

Absolut Mini Bar: 50ml pack (2912)

Purchase 1 case, receive a \$25 check.

Fris Vodka: 750ml & 1.75L

Purchase 5 cases, receive a \$50 check. Purchase 10 cases, receive a \$125 check. Purchase 25 cases, receive a \$400 check. Purchase 50 cases, receive a \$1000 check.

Passport Scotch: 750ml

Purchase 3 cases, receive a \$100 check. Purchase 5 cases, receive a \$200 check.

PLUS \$12 SPA

Malibu Beach Party: 50ml pack (2654) Purchase 1 case, receive a \$25 check.

Proximo

Agavero Orange Tequila Liqueur: 750ml

Purchase 1 case (6btls), receive a \$25 check.

El Zarco Gold/Silver: 750ml

Purchase 3 cases, receive a \$75 check. **Kraken Black Spiced Rum:** 750ml

Purchase 3 cases, receive a \$75 check.

Remy Cointreau

Famous Grouse: 750ml

Purchase 4 bottles, receive a \$5 check. Purchase 1 case, receive a \$21 check. Purchase 3 cases, receive a \$72 check.

Highland Park 12 Yr: 750ml

Purchase 3 bottles, receive a \$6 check.

Purchase 1 case (6btls), receive a \$15 check.

PLUS \$12 SPA

Metaxa Ouzo: 750ml

Purchase 6 bottles, receive a \$10 check.

Purchase 1 case, receive a \$24 check.

Remy Martin 1738: 750ml

Purchase 3 bottles, receive a \$6 check.

Purchase 1 case (6btls), receive a \$18 check.

Remy Martin VS: 375ml & 750ml

Purchase 6 bottles, receive a \$12 check.

Purchase 12 bottles, receive a \$30 check.

PLUS \$15 SPA on 375ml

Remy Martin XO: 750ml

Purchase 1 bottle, receive a \$12 check.

Purchase 2 bottles, receive a \$30 check.

Purchase 3 bottles, receive a \$60 check.

St Remy Brandy: 750ml

Purchase 6 bottles, receive a \$6 check.

Purchase 1 case, receive a \$15 check.

Purchase 3 cases, receive a \$72 check.

Sazerac

99 Schnapps: 750ml

Purchase 3 cases, receive a \$50 check.

Chi-Chi's Cocktails: 1.75ml

Purchase 10 cases, receive a \$25 check.

Ridgemont Reserve 1792:

Purchase 1 case, receive a \$30 check.

Skol Vodka: 1.75L

Purchase 25 cases, receive a \$50 check.

Skyy

American Honey:

Purchase 3 cases, receive a \$36 check.

Skyy: 750ml & 1.75L

Purchase 25 cases, receive a \$400 check.

Skyy Infusions: All flavors

Purchase 3 cases, receive a \$75 check.

X-Rated Fusion: 750ml

Purchase 3 cases, receive a \$54 check.

Purchase 5 cases, receive a \$150 check.

PLUS \$9 SPA

ES CIPC	3621172064	2209914772	8068611907	8068611913	8068611901	8048000152	9035501231	8901600849	Š	San	UFC	8700070070	8112801062		8218408700	8810013455	8810013475	8292822334	8292822340		8048023000	8043240176	00000	8/23040009	8970800003	1000000160	4460763203	4460768208	4460706920	4460711131	4460711317	8559213375	8292821434	8567610117	0000820060	0000829500	8711601463		8559214235	8559213855	8559212424
Case Cost	315.00	199.56	120.06	179.88	179.88	152.88	112.50	98.88	M	Carolin	Special	98.40	90.12		210.42	89.28	89.28	70.44	70.44		227.94	107.64	6	201.00	222.12	71.777	105.48	179.40	179.40	170.46	340.92	155 64	58.56	59.70	138.72	138.72	92.70		155.64	155.64	155.64
Btl. Cost	26.25	16.63	40.02	14.99	14.99	12.74	18.75	16.48		_	Special	16.90 16.40 WHISKE	7.51	X	35.07	7.44	7.44	5.87	5.87		37.99	8.97	H	33.30	18.51	10.31	17.58	14.95	14.95	28.41	28.41	12 97	4.88	9.95	11.56	11.56	15.45		12.97	12.97	12.97
Pack	12	12	33	12	12	12	9	9	P		KEY	16.90 WHI	8.26	WHISKEY	36.57	7.84	7.84	6.37	6.37	KEY	39.99	9.97	OTCH	05.56	19.51	19.31	18.58	15.95	15.95	29.91	29.91	15 97	5.15	10.60	11.94	11.94	15.95	ORED	15.97	15.97	15.97
Size	0.750	0.375	2.012	0.750	0.750	0.750	0.750	0.750	S	Btl. Cost	HIS			VHI		5 2	12	12	12	IISK	9	12	SC	0 (12	Z K	9	12	12	9	0.750 12 80 DDO		12	9	12	12	9	5	12	12	12
SEPTEMBER N	Two Jay's Country Style Bl Why80	Wide River Wheat Whiskey80	d		Apple Sass	Bacardi Oakheart70	Rumchata With Mug27	Sobieski Vodka W/flask80	SEPTEMBER	**************************************	BLENDED WHISKEY	Seagrams 7 Crown		TENNESSEE	Jack Daniels Single Barrel	Black Velvet 0.750	Fraveler		Canadian Ltd Convenience Pack 0.750	SCOTCH WHISK	Dewar's White Label1.750	Passport0.750	INGLE M	I K	McClelland Islay	TEC	El Jimador Anejo0.750	El Jimador Blanco 0.750	El Jimador Reposado0.750	Herradura Blanco Silver 6pak 0.750	Herradura Blanco Silver 6x6 Tequila . 0.750	₫ ¯	chmann's Roval		JJou			VODKA FLA	360 Concord Grape 0.750	360 Double Chocolate0.750	360 Georgia Peach Vodka0.750
Code	27323	27630	3118	40845	40853	43205	1377	3201			- Code	25608	17826		26906	11776	11786	12406	11936		4868	9426	6	2240	5606	0666	89274	87586	89278	3655	3676	38169	35946	37938	37996	38006	37339		41936	41019	41943

		Rtl Cost		Rt Cost Case Cost	•	
Code	Product Size	Pack		Special	Special	UPC
41940	la		15.97	12.97	155.64	8559213835
41467	360 Sorrento Lemon Vodka 0.750	12	15.97	12.97	155.64	8559214255
40986			11.94	11.56	138.72	8200073291
40976			11.94	11.56	138.72	8200073153
41746			11.94	11.56	138.72	8200000391
41715	erry		11.94	11.56	138.72	8200000122
41719	Smirnoff Green Apple	12	11.94	11.56	138.72	0000821040
41592			11.94	11.56	138.72	8200073286
40992	Smirnoff Melon 0.750		11.94	11.56	138.72	8200074426
41786	Smirnoff Orange 0.750	12	11.94	11.56	138.72	8200000386
40939	Smirnoff Passion Fruit 0.750	12	11.94	11.56	138.72	8200073993
41922	Smirnoff Peach Vodka0.750	12	11.94	11.56	138.72	8200075071
40917			11.94	11.56	138.72	8200074731
40997			11.94	11.56	138.72	8200074038
41/96	Smirnoff Raspberry	12	11.94	11.56	138.72	8200000396
41806			11.94	11.56	138.72	8200000401
40946	Smirnoff Watermelon 0.750		11.94	11.56	138.72	8200000117
41692)	6	15.95	15.45	92.70	8711601452
41625			15.95	15.45	92.70	8711601481
11001		VOD ©	K _A	5.75	11.70	0/11001701
34820		12	11.95	10.95	131.40	1776811175
35453	IMPORTED VOI	0.750 12	- MISC	10 95	131 40	1776812675
34839			11.95	10.95	131.40	1776812575
34823	ine		11.95	10.95	131.40	1776812275
34812	Svedka Raspberry 0.750		11.95	10.95	131.40	1776812475
34815			11.95	10.95	131.40	1776812375
49175	IMPORTED GRAPE		BRANDY		136 08	8723600173
	FLAVO	7	Z			
46105	Cabana Bay Wild Cherry 0.750		9.12	8.12	97.44	8193246342
44350	Cherry Jack Rum0.750	12	9.00	8.00	96.00	8284406042
12220	SPICED RU	_	24 40	24.00	1/0 00	9700020115
43335	Captain Morean PET 1.750	5 0	25.48	24.98	149.88	8200074456
	MERICA	OCK	TAI	_		
56828	Bacardi Cocktails Mojito1.750	6	15.00	13.00	78.00	8048001511
37111	Bacardi Cocktails Pina Colada1.750	6	15.00	13.00	78.00	8048000108
37113	Bacardi Cocktails Strawberry Daiquiri1.750	, 6	15.00	13.00	78.00	8048000107
56850		, 6	10.47	9.47	56.82	8048080604
56840	Bacardi Party Drinks Hurricane	6	10.47	9.47	56.82	8048080600
56846	Bacardi Party Drinks Rum Island [ced Tea1.750]	6	10.47	9.47	56.82	8048080602
56843	Bacardi Party Drinks Zombie1.750		10.47	9.47	56.82	8048080615
76767	Phillips Long Island Iced Tea1.000	12	6.41	6.11	73.32	8711603662

September 2011 New Codes & Specials. Page 2 of 3

67192	83906	82456	82926	Code
MISC. IMPORTED CORDIAL & LIQUEUR 67192 X Rated Fusion	TROPICAL SCHNAPPS Maui Blue Hawaiian0.750 12 5.50 5.00 60.00 8970800336	ROOTBEER SCHNAPPS Blackmaker Rootbeer0.750 12 14.80 13.80 165.60	CINNAMON SCHNAPPS 82926 Gold Rush	Pack Regular Special Special UPC
6 21.9	12 5.5	12 14.3	12 12.	il. Cost Bt.
& LIQ	PS 5.00	PS 30 13.80	PS 12.21	Btl. Cost Bt. Cost Case Cost Special UPC
UEUR 122.94	60.00	165.60	146.52	ost
8142501401	8970800336	8970861950	8970800275	

DISCLAIMER: Prices in this publication reflect the current pricing for the applicable period. Other factors affect the final wholesale price, including the 9 cent bottle deposit and surcharge, 50 cents per bottle split case fee, as well as any temporary price reductions and other specials offered by suppliers.